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e’ = cos(f) + jsin(h) (22)

jO000000O000O0:000000DO0000O00O0OC00O0C0 jO00O000D0O0O0O0O0O0OOOO0O0 50
ooooooooboo
0(1)0000000 fO000000O0O0ODOOOOOOOO

Al = Afcos(2m ft) + jsin(27 ft)} (23)
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Re{Ae??™F} = Acos(2n ft) (24)
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>> fs=8000;

>> t=0:1/fs:1;

>> cs=exp(j] *2xpi *440+*t);
>> y=real(cs);

>> soundsc(y,fs)

>> plot(y(1:100))
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Acos(2r ft + ¢) (25)
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Aej(Qﬂ'ft"r@ — AeI2mfteid (26)
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£(t) = 2r440t (28)
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df (1)

—= = 27440 29

o = 27 (29)
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df (t)

—~ =at+b 30

o = at (30)
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f(t) = %tQ +bt+C (31)
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F(t) = th T bt (32)
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>> t=0:1/fs:1;

>> a=880;

>> b=440;

>> f=a/2 *t."2+b *t;

>> ch=real(exp(j * 2% pi *f));
>> soundsc(ch,fs)
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il + bsin(27 f,,t) (33)

f()DoooOoOoooooooo

fit) =at —

Q:fv cos(27 ft) (34)
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>> a=440;

>> b=5;

>> fv=4;

>> fs=8000;

>> t=0:1/fs:1;

>> fza *t —b/(2 *pi xfv) *cos(2 *pi xfv *t);
>> plot(diff(f))

>> vib=real(exp(j * 2% pi *f));

>> soundsc(vib,fs)
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exp{j(27f(t))} = exp{j2(

. m—1
exp{j2m f1(t + Tt2)} (36)
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f(t) = exp(j2mft) (37)
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>> fs=20;

>> t=0:1/s:1;

>> g=t+t.72/2;

>> plot(t,t,t,g)

>> 1(2)

ans =
0.0500

>> g(2)

ans =
0.0513
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MATLABOOOOOOOOOOOOOOOO interpt 0000

>> x=[0 1];
>> y=[3 5];
>> x1=[0 0.5 1];
>> interpl(x,y,x1)
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>> [y,fs]=wavread( "a—wav');
>> t=0:1/fs:(length(y) —1)ffs;
>> g=t+t."2/2;

>> mody=interpl(t,y,q);

>> soundsc(mody,fs)

>> spectrogram(mody,hann(512),256,512fs, ' yaxis ')
>> spectrogram(y,hann(512),256,512,fs, "yaxis ")
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f(t) = ah(t) = at — 5 bf cos(2m f,t)
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(-2
= a —_ -
a 27 fy

h(t)=t cos(2m f,t) (39)

cos(2m f,t))
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